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Q.P. Code: 77642

(2% Hours) Total Marks : 60
3
Note :(1) All questions are compulsory. bq-
(2) Figures to the right indicate full marks. (\9\
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1. a. Give the product, name and mechanism of the following :- (any Two) \8\\
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2. a. Attempt any two of the following :-
i) Complete the following reactions by identifying A-D (\(/S\

Cng'CHO N
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ii) Give the equations for the protection anc@}protectlon of
N

~N
I) -OH as THP ether I1) I\(H\z as benzyloxycarbonyl
q‘)b
iii) What is umpolung? How wi@ou convert
(CH,),CHCH,CHO to (CclggsgCI-ICH:LCOCOCH?_C(CH})3 ?
e
iv) Give the product na;&&%nd mechanism of the following reaction :
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2. b) Give t%\@}roduct and mechanism of the following reaction :
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b)  Discuss the use of cyanide jons as acylanion equivalent with suitable 4
examples. ‘
: S
3. a) Attempt any two of the following - 8V
i) Complete the following reactions and explain the mechanism involved \\\
I) 3-hexyne + morpholine—————> 7 N
cbcb
T o QS
I1) cyclopentanone + piperidine———>? Q(f/?

ii) Explain with suitable examples C-C bond formation by gené@tlon ol
carbanions in phophonates and sulfones. Q\\O
‘ 4

O

ii)) Discuss with mechanism Stevens rearrangement. My

S

iv) What is the action of pp, ];’C—‘IIQ on the followig‘g\gampounds?

H B
c . il
T ) 3/\C, r—o IO @@
c_Hg \qu
Give the mechanism. N
\\\

b) Attempt any one of the following (éb 4

i) Write a note on Barton Kell(zggoleﬂnation.

Q
ii) Complete the followin%@%)actions identifying P, Q, R & S-

QA
1) Dimethyl ngkﬁ@e + Benzync
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. a) Attempt any two of the following - 8
i) Give the steps involved in the following conversion via selenoxide
@) C
- TNz Q
Oﬁ?’o i} C’ A \\\\
N
ii) Complete the following reactions identifying P, Q, R and S- ‘b\
9
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iii) Complete the following reaction gu@ng structures of X and Y. Explain the
mechanism and selectivity. ‘b
e H;
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iv) Complete thé\\tgllowing reactions identifying A, B, C and D:-
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4 b) Attempt any one of the followmg - 4
i) Explain with qtcreochemmty and mechanism hydroboration of styrene v
N
O
ii) Complete the following rcacuon sequence identifying A, B, C and D :- (\'
(eHs) SnH —L>(a) ~—3——>(c> /R0, 1) /Ci@\
TR
QQ’
| o
5. Attempt any four of the following :- ,\‘oQ 12

a) Give the mechanism and one apphcatlop of Passerini reaction. Q
b) Discuss cascade reactions with a suitable example.
¢) Using the protection - deprotection protocol how will you convert:

@ Ol—f

. oo Y
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T v H
ch.@,gf — Hoo@—<_ CHs

Q H
,\‘o
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d) Discuss any two basic parameters rcqulr&&\\for electrochemical synthesis.
e) What is the action of the followin@@agents on Q"H l
s ]
(bcb 4
Q ok I

) LHS B’f ‘O
Q

) CJ‘L?, ‘)“ C’Léz

D H- l%\C‘*HSDL

f) Give strucurcgi/‘ag,ﬁahosphorous yhde and nitrogen ylide. Why are phosphorous

ylldcs m%g: stable than mtrogemyhdcﬁ

'
(|

|
o) ' Wi
bQQ’ ; : 1 ; | [TURN OVER]

Scanned by CamScanner'



Q.P. Code : 77642

g) Complete the following reactions-

ST T S
i) ,

cr _‘

ii) (CH,),SnH + CH,CH = CHCH, ~——*?

HH N ‘ Q
i) ‘» Haow&g Bra , ¢ S

h) Complete the following reaction sequence identifying A, B and C\5
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